BORILLA oPORTS

Flat Bench (10000109)




pUORILLA oPORTS

X

~  PROFESSIONAL GYM EQUIPMENT FOR EVERYONE

Maximum load: 400 kg




PUORILLA oPORTS

Washer: (910) Hex Nut: (M10) Washer: (#8)
© © ©
4x 2X 3x

Hex Bolt: (M10*85)
[

2X

Hex Bolt: (M8*65)

HUD
3X

LI

Spanner

10O~ ~ O




SOdZ— (0TI) 3NN X°H SOdV—(0T@) 1oysej

/TN
O
N/

SOdg— (S8+0TI) 310d X°H




SOdE- (89) JoUsey

SOdE— (G9%8IN) 3104 XOH

|

I

]

8¢ G9*8N

\ 86 G9*SH

——3

8¢ G9*8N

<>




